The answer

is $147.
What is the
problem?

The answer

is 813.
What is the
problem?

The answer

is 437.29.
What is the
problem?

The answer

is $821.34.
What is the
problem?




The answer
isb .
What is the
problem?

The answer

is $280.
What is the
problem?

The answer

is 249.21.
What is the
problem?

The answer

is $821.34.
What is the
problem?




The answer
is 82 V4 .
What is the
problem?

The answer

is $385.08.
What is the
problem?

The answer

is 5,932.
What is the
problem?

The answer

is 137 34.
What is the
problem?




The answer

is 8,294 .
What is the
problem?

The answer

is 13,973.
What is the
problem?

The answer

is $32,198.
What is the
problem?

The answer is

$7,291.31.
What is the
problem?
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